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The problem of the bolanced segments

For a 5eg, uenCe Xt 0gi< N}, Nxo, of 0% and
s o lalanced rsegmené X(t: pgi< 4) — of lenﬁé‘o
g-p - & delined as a begmen{ such ek

o< psg e N A (N \pgwﬁ,t X ()=0) = (Nipsi<q: X{)=1)

It s re%uebted Lo Conskruct a program QomPukinr the
MOX Lrv uvn \enﬁﬂn of a balanced beﬁmenk of  X(Cogi< N)
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The Q%ua.lzim’) menkioned in the )\posjcc_omolilc'iova of &
has ol ldask one molukion, wviz. v+ For tre o\.iscove.rul
of iks minimum solubior we rvewrite Lhe eq,u,a‘:(an_, Mgmﬁ
the de.(iwil:ion of ba\ancedﬂess and. Msmﬁ the abbrevi-

akion

D(p): (Nd:o<L<P: Ky=0) - (NGostep: X=1) ,
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into

h: och A Dlh) = D).

Quy A’nkresi AV k\oe e 2l aallNss Ao\ui{on car) — i terms
OC ‘LL)Q seguerice L — be p\’n“asea[ as  our Aviterest 10

boe leflumost” occurrence of  each D - value

Hence, We bjrvtngt\ﬁew To with Pt APy APa, where
/P‘i: d.= @(Y)}
Pa: (A ogchcnsn: m<’D(h)<M)

Ps:  (As: m<sc™M: (s = the minimum solulion of

he osh A D=5 ) ,

A0 dnaL L\ne veguiTed \Ja\ue of 1 s vnen bioned  4n the
\Qoakowdihon of S, ds Telaged ko C btj

(7P A P2 A@a)(m&/n) = A= c(d),

-

Tn c\nec\ﬂv’lﬂ the Yrogram text Joe\ow e veader As
/guf)c}esLeGL Lo theck the “nvariavices of P1, P2, and
P2~ i1 bsuccession One  hint ds given Cor the 4n-
variance of Pz

Twv, d, m M: dnts c((: -Nsas\\l): M_Q_{f(hl
s Wi=0s di=o0; mi= -1; Mot ci(0)=05 ¥i=0
5 do n# N

- L_C. X(n):o» o\::o(M UX(m):ﬂ — (iz=d~1 {-_.,,g {'ﬂ(hﬂ/ﬂ)}

5 i__EW}<d.f\ d<™M - b\?iF

0 m=d - {P1(nt1fn) A2 AP A m=dl
C.:(m):mu Wii=m-1 {’?s(ms/n)JbQQ H(nk}

S d=M (M= nety Mis Mes |
S =041y vo= v omax (n- c(d))
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s print(v).
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Hint
wp (" ci(m)= ety mi=mat, T2 (n+1fn))

[Pz = Pa(nrfn)]}

W\o("c: (m)= ntis me=m-1, P3)
defiridion ol P and predicale ca\wlus}
S N Ml o= Jr\qe i mum Ao\uliom of

b ochh A D(h) =m
& | from P2, (Bh: ochenyrt ’D(h)%m)&

Po A P2 A it = E\’)e WA v SO‘M‘\‘I'O\"} oc

b it <h A Dh)=m

’P& A /\)3 A \’YH‘-'O[. A Nt = 1—\ne W i um /:o\wt(on

of hintish A Dh)=d
&= {(wm (% (hﬂ/m), o - ’l_:)(mf—q)}
Pi(ast/n) A~ P2 A P2 A m=d

Quod erat devnonstrandum
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W H ] Fei)”'en,
Erndboven, 2 June 1962



